
Kawasaki Teryx-4 Laminated Glass Windshield 
P/N: EMP-12309 

Includes: 
1. (1) Top Frame (12309-02) 
2. (1) Bottom Metal Stiffener (12309-03) 
3. (14) 1/4-20 x 3/4” Flange Bolts-Black Zinc 
4. (10) 1/4” Washers-Zinc 
5. (10) 1/4” Nylon Nuts– Zinc 
6. (4) Quick Clamps (10230, 1-7/8”) 
7. (1) 1/8” x 52” Edge Trim (bubble on the bottom) 
8. (2) 1/8” x 3” Edge Trim (bubble on the bottom) 
9. (3) 1” Wide Hook & Loop (Velcro) x 6” Long 
10. (1) Hand Operated Wiper. 
11. (1) Logo Sticker 
 

This item should be installed by a professional 
Technician. 
 
Installation; 
1. Set the vehicles parking brake. 
2. Bolt the top window frame to the bottom metal stiffener using the 

1/4 bolts, washers, and nuts provided. 
3. Install the hand operated wiper to the metal frame.  The handle will 

got up on the inside (see picture) You can also adjust the height of 
the wiper by extending the wiper arm.  It just slides.  NOTE: after 
you have the windshield completely installed you should put a 
thread locker on the little fastener that holds the wiper hand on, so 
you do not loose it. 

4. Slide the three pieces of the bottom edge trim onto the bottom of 
the frame .  The short pieces will go on the ends as pictured.  These 
will seal and protect your hood. 

5. The Hook & Loop will go between the top of your windshield 
frame and the round tube on our cage.  One in the middle and one 
on each side. 

6. Loosen the top two nuts (one per side) that hold the cage to the 
vehicle and slide the windshield frame slots under the nuts and 
then tighten them back to the vehicle manufactures torque specifi-
cations. 

7. Remove the 1/4” nylon nuts on the Quick Clamps and set aside for 
now.  Using the thumbscrews or remaining bolts attach the clamps 
and windshield frame to the cage.  Once, you have it in the correct 
location tighten them down.  Now, you can put the nylon nuts back 
on to the Quick Clamps.   

 


